1 2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 08/13/05' o LJC 08/13/05
ITEM | PART NAME Q'ty NOTES B S ] YCH 09/13/07" Y LJC 09/13/07’
PR R 1| Plasticroon | 2 | es c Ve ) | YCH 07/18,/08" ~
—— T 11 | II—H , 21| LONG BOLT 2 #4-40
: |-| | 2.2| SHORT BOLT 2 #4-40
+ iy — + 3 N > 3 NOTES: .
4 Tp— 5 M3 1. Hardwares are all Nickel plated.
2499 3 S WASHER > 2. PART NUMBER CODE:
6 SHORT SCREW 2 | M3 DS1045 — 09 X X X X X
7.1|. METAL WASHER 2 T Washer type
30.8 7|7.2| PLASTIC=1 WASHER 2 1: Meto\.
2: Plastic—1(Lock type)
12.0 73] PLASTICTR WASHER 2 3: Plastic—2(Screw type)
! Bolt type
|_—|1 L: Long
—— = S: Short
— [ Packing type
T T 1: Mix packing

39.6

38.5

2: Separation packing
—— Cover Material
P: Plastic(ABS)

—— Cover Color

A: Gray
. |- B | B: Black
|_ V: Ivory
——— Position
09: 9pin
‘ 2 137
o _
p 1.0
s UNC#4—40 M3 3
BN
0 — A;,IH*,
7.0 © ©
‘ 0 5.40
y u—\ Short BOLT NUT t=2.3mm
5
4 4.8
| il \
< 7 Y | | | :
\ LT ‘ “’3\2,@, o
) i D 3
4—40 UNC 8 9 oo 7.5 \
e ™)
s g o Metal Plastic—1 Plastic—2 LONG SCREW
e Met _ _ _ __ o _ SMALL WASHER
@ = e s N GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @ -€F [TITLE LS oo Hood
oo 2 7 X.  +0.60 X. +5 UNITS mm il
135 s X $0.38 X x3 SHEET SIZE A4 | SERIES | DS1045 SERIES
30.5 XX £0.25 XX 22
»
44 DRAWING TYPE |COSTOMER )1% ﬁ]}] EE ? ﬁ IEE Z\ a
Long BOLT SCALE 1:1  [SHEET [1 OF 1
DRAWING NO. | C—DS1045—09xxxxx—c | conmnFLy CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


1 2 3 | 4 5 | 6 I 7 | 8

BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A NEW RELEASE LJH 05/18,/05’ ~ LJC 05/18/05°
ITEM | PART NAME Qty NOTES B 2405 ] YCH 09/13/07’ ~ LJC 09/13/07’
/—n—@—nﬁ ! PLASTIC HOOD 2 ABS C SRS 2 R | YCH 07/18/08’ ~
2.1| LONG BOLT 2 #4—40
| g ORT BOLT 2 4-40 NOTES:
‘ &2 SH #4- 1. Hardwares are all Nickel plated.
‘ 33.32 ‘ 3 NUT 2 M3 2. PART NUMBER CODE:
392 4 LONG SCREW 2 M3 DS1045 — 15 X X X X X
5 SMALL WASHER 2 T Washer type
1: Metal
6 SHORT, SCREW 2 M3 2: Plastic—1(Lock type)
7.1| METAL WASHER 2 M3 3: Plastic—2(Screw type)
7 |7.2| PLASTIC—1 WASHER 2 ABS Bolt type
L: L
7.3| PLASTIC=2WASHER | 2 ABS S: Short
1 Packing type
_\ ‘ 1: Mix packing
g i 2: Separation packing
| \ ! | Cover Material
i P: Plastic(ABS)

——Cover Color
A: Gray
1o : V: Ivory
: ) UN.C#4—4O —Position
. 15: 15pin
f,L,A}H,i,

Short BOLT

35.9
37.1

12.0
9.9 0> %@\ LONG SCREW NUT 122 3mm
|
<
Y \ — W o !
N : ; -
: - =2 7.7 |
——1 ﬁfmj¥ & N\
> ‘/?2‘ Y | 2’3\2
S J M2.5 | | A = — o
2 )
Metal Plastic—1 Plastic=2 l :
4—40 UNC 3 - T~ - - - - - - - T I
o 2 SHORT SCREW SMALL WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION - TITLE
— \ © & [TTiE] D—SUB 15pin Hood
20 X. +0.60 X. %5 UNITS mm
6.6 3 - X £0.38 X £3 SHEET SIZE A4 SERIES | DS1045 SERIES
13.5 b < XX £0.25 XX £

305 DRAWING TYPE |COSTOMER = ;ﬁl;] EE ? ﬁ‘ IKE YAN ﬂ
44 SCALE 1:1 [SHEET [1 OF 1 @ fe 7 N H

Long BOLT DRAWING NO. | C—DS1045-15XxxxX—C | connFLy CONNFLY ELECTRONIC CO. LTD

1 2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05
ITEM | PART NAME Q'ty NOTES B I ) [ YCH 09/13/07" ~ LJC 09/13/07°
54.0 1 PLASTIC HOOD 2 ABS C AEHL G RIE 22 ) | YCH 07/18/08’ N
2.1| LONG BOLT 2 #4—40
47.04 ‘ 2
2.2 SHORT BOLT 2 #4—40
H.0 2 NUT 2 M3 NWOT?SS:d Il Nickel plated
. arawares are a ICKEl plated.
| ! % LONG SCREW 2 | M3 2. PART NUMBER CODE:
-[I\irl: | :I'lﬂ 5 SMALL WASHER 2 DS1045 — 25 X X X X X
L T J 6 SHORT SCREW 2 M3 T Washer type
1: Metal
| 74| METALWASHER | 2 | M3 2 2: Plastic—1(Lock type)
7 {7.2 | PLASTIC—1 WASHER 2 ABS ] ;3'7 3: Plastic—2(Screw type)
7.3| PLASTIC—2 WASHER 2 ABS 5‘7 UNC#4—40 Bolt type
L: Long
8.0 [l S: Short
N\ -
t —H Packing type
( 1: Mix packing
2: Separation packing
Short BOLT Cover Material
P: Plastic(ABS)
Cover Color
A: Gray
3 B: Black
] V: Ivory
M3 —Position
25: 25pin

NUT t=2.3mm

L

9.5

0.5
,@5
3
2
kb
3.0
e
3
g
=
S
W
.:zm.\e{g"

o |
M3 —80 o ‘ e
o i I
| 1 o= Ul~m \ :
T T l £0 %
2 M3 [
e o e P\Estic 1 e L f\isﬁcfQ - 5
4-40 UNC 8 =
by 9 SHORT SCREW
\
@ — GENERAL TOLERANCE| ANGLE TOLERANCE —F [TILE
I,w I SRRRRRRAS EE?éECTION @ 4 D—SUB 25pin Hood
oe 2 i X. +0.60 X. +5° mm
135 2 < X +0.38 X x3 SHEET SIZE A4 SERIES [ DS1045 SERIES
' o XX +0.25 XX x2
4 DRAWING TYPE |COSTOMER )T?C #]] EE; % ﬁ‘ I}E j
Long BOLT SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. | C—DS1045—25xxXxx—c | €ommFLY CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


2 S 4 5 | 6 | 7 | 8

53

Sow LisT REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A NEW RELEASE LJH 10/26,/05’ ~ LJC 10/26/05’
TEM ;&EEAXSOD QZW — NOTES B A 51 YCH 09/13/07" ~ LJC 09/13/07’
PR R R 22 RN ’
5 TONG BOLT 5 a0 C ALY RIE 2 US| YCH 07/18/08 ~
SHORT BOLT 2 #4-40
3 NUT 2 M3
4 LONG SCREW 2 | M3 NOTES:
1. Hardwares are all Nickel plated.
S SMALL WASHER 2 2. PART NUMBER CODE:
6 SHORT SCREW 2 M3 DS1045 — 37 XX XXX
7.1| METAL WASHER 2 M3 Yv_oazfg‘type
7 |7.2| PLASTIC—1 WASHER 2 ABS 2: Plastic—1(Lock type)
7.3 | PLASTIC—2 WASHER 2 ABS 3: Plastic—2(Screw type)
Bolt type
L: Long
S: Short
Packing type
1: Mix packing
2: Separation packing
[ 13.7 Cover Material
o 1.0 P: Plastic(ABS)
s UNC#4-40 L————Cover Color
‘ H A: Gray
Y I R B: Black
E JIH V: Ivory
—— Position
i 37: 37pin
‘0 Short BOLT
3 4
M3
i M3
o x — . @
NUT t=2.3mm LONG SCREW
5 4.‘8
14.0 9? 24 l )
ST
M3 16.0 < IS ‘
/o S ‘ L {110 - ‘ 6
Jrd 4 (BE=@) U w 3 &
T T T \ 6.0 TN
2 __Meto __ Pestest o Plesee2 | )
o o SHORT SCREW
4-40 UNC E :
b T GENERAL TOLERANCE| ANGLE TOLERANCE —=F | TITLE
@ i I BB BEGTION @ 4 D—SUB 37pin Hood
2] - X. £0.60 X. %5 UNITS mm
o 2 & X +0.38 X £ SHEET SIZE A4 | SERIES | DS1045 SERIES
13.5 o XX £0.25 XX £2 Eay
44 DRAWING TYPE |COSTOMER @ }T(:(‘ Jé/il)] EE‘ ? ﬁ IKE /A)‘\ a
SCALE 1:1 | SHEET [1 OF 1
Long BOLT
2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章




